


Name: ‘ Date:

EVERYDAY MATHEMATICS—3' Grade
Unit 2 Review: Number Stories and Arrays

Fill in the unit box and the blanks. UNIT

1) 4+ =12

40 + =120

400 + = 1200

2) 16-9=
26-9=

76-9 =

©2015 Read, Write, Grow




Unit 2 Review (continued)
For each number story, write a number model with a 2.
Then solve the number story.
You may draw diagrams, like those below, or pictures to help.

Total Start Change End Quantity
N

Quantity Difference

Part Part

5) Madison ran for a fotal of 48 minutes on Monday and Tuesday. She ran for 30 minutes
on Monday. How many minutes did she run on Tuesday?

(number model with a 2)

Answer:

(unit)

How do you know your answer makes sense?

é) One Mississippi alligator clutch has 41 eggs. Another Mississippi alligator clutch has 29
eggs. How many more eggs are in the first clutch?

(number model with a 2)

Answer:

{unif)

How do you know your answer makes sense?¢
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Unit 2 Review (continued)

/)  Camden read the number story below. Then he drew a picture and wrote two

number models to keep track of his thinking.

Mrs. Wilson has 2 packs of crayons with 6 crayons in each pack.
She gives 5 of the crayons to her students.
How many crayons does she still have?
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2X6=12
12-5=7

Do Camden's number models fit the number story2 Explain your answer.

8) There are 6 hot dog buns in a pack.

a. How many hot dog buns are in é packs?
You may draw a picfure to help you solve.
Circle the number model that fits the story.

b+b6=¢ 6X6=7¢

Answer:

(unit)
b. Explain how you solved Problem 8a.
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Unit 2 Review (continued)

9)  You have 3 rows of chairs with 6 chairs in each row.
How many chairs do you have in all?

a. Draw an array on the dot grid fo match the story.

e

b. Circle the number model that fits the story.
3X6=2¢ 3+6=7¢

There are in all.
(unif]

10) Share 15 marbles equally among 3 friends.
Draw a picture fo show how you shared the marbles.

Each friend gets

(Uﬂ”{

There are left over.
: [oni)
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Name: Date:

EVERYDAY MATHEMATICS—3'9 Grade
Unit 2 Challenge Review

1) Hudson says that knowing 4 + 6 = 10 helps him solve this problem on his calculator.
Enter 334. Change it to 370. How?

Explain how Hudson might use the basic fact.

2) Read the number story and circle the pair of number models that fit the story. Then
solve.

Mr. Hernandez equally shared 24 crayons among 4 groups. Sal's group

found 6 more crayons. How many crayons does Sal's group have now? You
may draw a picture to help.

Circle the pairs of number models that best fit the story.

A 24+4=6 C 24X 4=96
6+6=12 96 +6=102
B 24+4=28 D 24-4=20
28+ 6=34 20+6=26

Sal's group now has crayons.
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Unit 2 Challenge Review (continued)
3) You have 16 chairs that you want fo arrange

in an array.

a. Show 3 different ways you could do this on a
dot grid af the right. Write number models for
each array.

Number models:
b. Canyou make a 16-chair array with 5 rows?

Explain.

4) Joey is making a Frames-and-Arrows problem.
His first two frames show 4 and then 8.
Write a rule that Joey might be using. Then fill in the frames.

P

Write a rule that gives different numbers for the other frames. Then fill in the frames.

Rule m@@@@
Sojojsislele
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Name: Date:

EVERYDAY MATHEMATICS—3 Grade
Unit 2 Cumulative Review

1) Record the time shown on each clock.

2)  Draow the hands fo show the times.

a. 6:15
3) Solve. a. 8X2= b. =3X3
C. =5X4 d. =7X10
e. =2X4 f.3X4=

g. Explain how you solved 7 X 10.
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Unit 2 Cumulative Review (continued)

4) Round each number to the nearest 10.
You may use open number lines to help.

a. 63
e | l—s
b. 27
e | l—

c. Explain how you rounded 27 to the nearest 10.

5) Round each number to the nearest 100.
You may use open number lines 1o help.

a. 310
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Unit 2 Cumulative Review (continued)

6) Use the information in the bar graph to answer the questions below.

Types of Movies Watched

Number of Movies

comedy mystery fantasy animation drama
Types of Movies

a. How many comedy and mystery movies were wafched all fogethere
b. How many more animation movies were watched than fantasy movies?
c. How many movies were watched in alle

d. Explain how you solved for the number of movies watched in all.
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Name: ﬁ&NSE{ngR Kg\ix Date:

EVERYDAY MATHEMATICS—3'Y Grade
Unit 2 Review: Number Stories and Arrays

Fill in the unit box and the blanks. UNIT

1) 4+ 8 =12

40+ 89 =120

400 + 800 = 1200

2) 16-9=

26-9=_

76-9 =

3
Rule

)
+10 }
)

4

@ X0 TN 0N 7T

-
i

o
doubl
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Unit 2 Review (continued) *ANSWER KEY*
For each number story, write a number model with a 2.

Then solve the number story.
You may draw diagrams, like those below, or pictures to help.

Total start Change End Quantity
N

Quantity Difference

Part Part

5) Madison ran for a total of 48 minutes on Monday and Tuesday. She ran for 30 minutes
on Monday. How many minutes did she run on Tuesday?

48 -~ 30 =2 or30+ 2 = 48

(number model with a 2)

Answer- 18 minute

(unif)

How do you know your answer makes sense?

i

0ssible answer: The minuies on Tuesday are less than the foidal

minutes. 18 makes the number model true.

6) One Mississippi alligator clutch has 41 eggs. Another Mississippi alligator clutch has 29
eggs. How many more eggs are in the first clutch?

-

41 -29=20r29+%¢=4]

(number model with a 2)

12 e i
Answer: Ak

(unif]

How do you know your answer makes sense?

f"':i . T e ] vy, 5 e PRl Y ‘m . F I § } \ it o “&;i - p
Possible answer: The difference is smaller than the larger clutch. 12

®

makes the number model fru
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Unit 2 Review (continued) *ANSWER KEY*
7)  Camden read the number story below. Then he drew a picture and wrote two
number models to keep track of his thinking.

Mrs. Wilson has 2 packs of crayons with 6 crayons in each pack.

She gives 5 of the crayons to her students.
How many crayons does she still have?

4 )

=

O[5

0>

M5

|1 [—1 1=

@:IIID

[e——ll>

M1 )
2O
\HHCX:“LDJ

(==
—

2X6=12
12-5=7
Do Camden’s number models fit the number story2 Explain your answer.

es. Possible answer: They fit because Mrs. Wilson had 2 packs of

crayons each, and thatis 2 >< 6 = 12. Then she gave 5 crayons away,

19 ’” @
E.&iw\q *i:; :}

£E

and thati has 7 pencils lef

(%]
f f}

8) There are 6 hot dog buns in a pack.

a. How many hot dog buns are in 6 packs?
You may draw a picture to help you solve.
Circle the number model that fits the story.

b+é6=¢

/?

Answer: 6 hot C%A‘G buns

(unit)
b. Explain how you solved Problem 8a.

O

Possible answer: | skip counted by 65 and got 36.
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Unit 2 Review (continued) *ANSWER KEY™

?)  You have 3 rows of chairs with é chairs in each row.

How many chairs do you have in all¢

a. Draw an array on the dot grid to match the story.

X X X X X X
X X
¢ X X

Z’%%
o XX

X
§fi

X X

b. Circle the number model that fits the story.
3X6—2“ 3+6=2
There are 18 chairs in all.

{unif]

10) Share 15 marbles equally among 3 friends.
Draw a picture to show how you shared the marbles.

Each friend gets = Maroies

(unit)

. There are U marbles left over.

(unit)
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Name: r‘i\N@ j%f_ﬂg: ‘C\m Date:

EVERYDAY MATHEMATICS—3'Y Grade
Unit 2 Challenge Review

1) Hudson says that knowing 4 + 6 = 10 helps him solve this problem on his calculator.
Enter 334. Change it to 370. How? * 36
Explain how Hudson might use the basic fact.

4

Possible answer: Knowing 4 + 6 cai

i)
)
@]
3
g
@]
{:j
)
()
]
-
)
D
e,
-
?é
"
-
.l
9]
D
@]
"
]
I

ones gets to the next fen. Hudson can add 334 + 6 fo get o 340 and

then add 30 fo get to 370. So 334 + 36 = 370.

2) Read the number story and circle the pair of number models that fit the story. Then
solve.

Mr. Hernandez equally shared 24 crayons among 4 groups. Sal's group
found 6 more crayons. How many crayons does Sal's group have now? You

may draw a picture fo help.

Circle the pairs of number models that best fit the story.

@m“"% )
Agf‘24+4=6‘%§; C 24X4=96
\6+6=12/ 96+ 6 =102
B 24 +4 =28 D 24-4=720
28+ 6 =34 20+ 6 =26

Sal's group now has £ crayons.
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Unit 2 Challenge Review (continued) *ANSWER KEY*

3) You have 16 chairs that you want fo arrange - XX XX -
in an array. - XX X X
a. Show 3 different ways you could do this on a - XX }g }\“
dot grid af the right. Write number models for XX XX
each array. o
XX XXX XXX
Number models: XY XXX XXX

1 X16=16
4X4=16
8X2=16

b. Canyou make a 16-chair array with 5 rows?e
Explain.

No. Possible explanation: If there were 5

MMM MMM MMM AN AKX AKX

rows and | put 3 in each row, | would

have 1 left over. | cannot use 5 rows.

4) Joey is making a Frames-and-Arrows problem.
His first two frames show 4 and then 8.
Write a rule that Joey might be using. Then fill in the frames.

Rule

%‘g

Write a rule that gives different numbers for the other frames. Then fill in the frames.

f?&:} X0 TN TN 7T

A 16 32

\
N L
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Name: ~ANSWER KEY” Date:

EVERYDAY MATHEMATICS—3 Grade
Unit 2 Cumulative Review

1) Record the time shown on each clock.

i‘v‘%«‘}
o
b
e
(3]
O

2)  Draw the hands to show the times.

a. é:15
zs’
3)Solve. @ 8X2=_C b, 7 =3x3
c. 20 _5x4 a0 —7x10
e. S _oxg4 f3x4=_ |2

g. Explain how you solved 7 X 10.

Possible answer: | skip counted by 10s seven fimes. | know thaot 7 X 10 is

/ tens, which is like 7 base-10 longs, or 70.
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Unit 2 Cumulative Review (continued) *ANSWER KEY*
4) Round each number to the nearest 10.
You may use open number lines fo help.

ﬁ
a. 63 60
| |
<€ | § ! ! >
*MN *53’.&? T~ )
{} 60 - So /0
b. 27_30
| | l
<€ I | g —>
20 25 "7 f”‘“‘”‘f’gﬁ““*‘x
L £ L/ é: oV
c. Explain how you rounded 27 to the nearest 10.
5) Round each number to the nearest 100.
You may use open number lines to help.
O
3102
«— | >
) . TN,
{ y 5 8 / Yo WY
(L300 310 350 (400
b. 680_ 700
o] ! 3
z e Rela f/ww:m%‘*
600 65( 680 700

©2015 Read, Write, Grow




Unit 2 Cumulative Review (continued) *ANSWER KEY*

6) Use the information in the bar graph to answer the questions below.

Types of Movies Watched

14

Number of Movies

comedy mystery fantasy animation drama
Types of Movies

a. How many comedy and mystery movies were watched all togethere 7 MOVies

NV

b. How many more animation movies were watched than fantasy moviesg < MOVies

. . 15 /e
c. How many movies were wafched in oll?g‘“ movies

d. Explain how you solved for the number of movies watched in all.

4

Possible answer: l added é + 3 and aot 2. Then | added 2 + 9. | aot 18

X

-

O
Nexi, | added 18 + 12 and got 30. Then | added 5 more and got 3

(9]
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